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B8=>T7T—=>3—>1—>6—>9—>10—>5—>11~>12 > 4> C3,C11
A knot diagranﬂ ¢z &2 a G € C 6 Clo C2 G
Ideals for irreducible component#ﬂ)f Xpar

I = (WP v 4 fu+1)

* 1 irreducible components of dim¢ = 0, with total 53 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u?4+u2+.--+u+1)

(i) Arc colorings

w- (1)

1
ag = 0

1
a7 = U2

u
a3 = \uyd+u
w3

a1 = \uP+ud+u

w?+1
a6 = u2

wt+u+1
ag = u4

—u'? — 10 —3u8 — 2 + w41

a10 = \ —uM — 2012 — 5419 — 608 — 6ub — 2ut — u?

wrut+2u2+1
a5 = u6 + u2

u?6 4+ 3u* - 4+ 3u? + 1
ain = 26 42024 4. b g2

w2l + 20 + Tl 4+ 10u'® + 140’3 + 120! + 5 — 20”7 — 5u® — 2ud —wu
a19 = u2‘5+3u21++2u3+u

—u —5ut® .+ 3u? + 1
ags = \ —u®% — 6u0 + .. — 260’ — Tut

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®! — 445 + ... — 16u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C5,Cq U53+11u52+~--_5u_1
c8
C2,Cr uP Ut fut1
€3, C4, C11 w2 4+ 3ut1
Cg, C12 u53 + 9’1,652 4+ 857w + ]9
€10 u® — 3u%? 4. — 179u — 105




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,Cg y53+63y52+~“—13y—1
Cs
ca,C7 Yy 1yt 5y — 1
C3,C4,C11 y53—49y52+--~—5y—1
C, C12 y°3 4+ 35y°% + .- — 196313y — 7921
c10 y°3 — 13y°% + .- + 120871y — 11025




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.457945 + 0.8928661

—1.71286 + 2.753891

—6.34294 — 3.072341

0.457945 — 0.8928661

—1.71286 — 2.753891

—6.34294 + 3.072341

0.572730 + 0.8131441

—1.00719 + 4.988691

—3.18777 — 7.701351

0.572730 — 0.8131441

—1.00719 — 4.988691

—3.18777 + 7.701351

—0.429825 + 0.9209621

—7.86744 — 0.157691

—10.16108 4 3.004251

—0.429825 — 0.9209621

—7.86744 + 0.157691

—10.16108 — 3.004251

—0.490682 + 0.9142211

—1.20646 — 6.617601

—4.55514 4 9.491341

—0.490682 — 0.9142211

—1.20646 + 6.617601

—4.55514 — 9.491341

0.493153 + 0.9365161

—7.05643 + 9.902851

—8.45292 — 8.938151

0.493153 — 0.9365161

—7.05643 — 9.902851

—8.45292 + 8.938151

—0.036116 4 0.9386261

—10.01760 — 4.899581

—13.7857 + 3.69351

—0.036116 — 0.9386261

—10.01760 + 4.899581

—13.7857 — 3.69351

—0.575852 + 0.7333971

2.95450 — 2.170591

3.89779 + 4.697021

—0.575852 — 0.7333971

2.95450 + 2.170591

3.89779 — 4.697021

0.023560 + 0.9076291

—4.02491 + 1.910901

—10.66650 — 3.967461

0.023560 — 0.9076291

—4.02491 — 1.910901

—10.66650 4 3.967461

0.610238 + 0.6414741

—0.472073 — 0.5541071

—1.056775 4 0.1782861

0.610238 — 0.6414741

—0.472073 + 0.5541071

—1.056775 — 0.178286.1

—0.217456 4 0.8069431

—4.96706 — 2.017231

—11.79175 4 5.177221

—0.217456 — 0.8069431

—4.96706 + 2.017231

—11.79175 — 5.177221

0.661436 + 0.4346201

—5.46999 — 5.615801

—4.48224 + 3.239921

0.661436 — 0.4346201

—5.46999 + 5.615801

—4.48224 — 3.239921

—0.618304 + 0.4562941

0.22206 + 2.447131

—0.32336 — 3.635781

—0.618304 — 0.4562941

0.22206 — 2.447131

—0.32336 + 3.635781

||| |22 || |2(g|e|e|r|g|g|g|g|g|”f|g|g|g|g|g|g|g |

= 0.876686 + 0.8753221 0.37975 + 3.027731 0
= 0.876686 — 0.8753221 0.37975 — 3.027731 0
= —0.890877 + 0.8888371 6.84069 — 0.891671 0
= —0.890877 — 0.8888371 6.84069 + 0.891671 0
= —0.907804 + 0.8773381 2.05866 + 6.629911 0
= —0.907804 — 0.8773381 2.05866 — 6.629911 0




= —0.598640 + 0.3076931

—6.03882 — 3.604661

—5.04712 + 3.306031

= —0.598640 — 0.3076931

—6.03882 + 3.604661

—5.04712 — 3.306031

= 0.498225 + 0.3732241

—0.283096 + 0.9924121

—1.65563 — 4.457031

= 0.498225 — 0.3732241

—0.283096 — 0.9924121

—1.65563 + 4.457031

= 0.297051 + 0.5367131

—0.193421 4 0.9163281

—4.23122 — 6.903141

= 0.297051 — 0.5367131

—0.193421 — 0.9163281

—4.23122 4 6.903141

= —0.443543

—2.70485

—1.55100

Solutions to I} V—=1(vol + /=1CS) Cusp shape
u=0.903027 + 0.8838431 7.77793 — 3.114031 0
u= 0.903027 — 0.8838431 7.77793 4 3.114031 0
u = 0.847469 4 0.9523561 0.13857 4 3.363911 0
u=0.847469 — 0.9523561 0.13857 — 3.363911 0
u = —0.898144 4 0.9166671 8.05683 4 0.138891 0
u = —0.898144 — 0.9166671 8.05683 — 0.138891 0
u = —0.862668 4 0.9530891 6.63594 — 5.594021 0
u = —0.862668 — 0.9530891 6.63594 + 5.594021 0
u=0.891690 + 0.9287211 11.67710 4 3.291201 0
u= 0.891690 — 0.9287211 11.67710 — 3.291201 0
u = —0.886770 + 0.9409381 7.97899 — 6.725661 0
u = —0.886770 — 0.9409381 7.97899 + 6.725661 0
u= 0.866244 4 0.9632791 7.52338 4-9.648041 0
u= 0.866244 — 0.9632791 7.52338 — 9.648041 0
u = —0.864545 + 0.9696907 1.76241 — 13.172301 0
u = —0.864545 — 0.9696907 1.76241 + 13.172301 0
u
u
u
u
u
u
u




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cs5, C6 WP L 11u2 . By —1
cs8
Ca2,Cr uP u 4 fud 1
€3, €4, €11 u +u*? -+ 3u 1
Cg, C12 u®® + 9uP? + - + 857u + 89
C10 u®® — 3u? 4+ - =179 — 105




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs5, Ce Y +63y°% + - — 13y —1
cs8
c2,C7 Y+ 11y - =By — 1
€3, €4, C11 Y =49y 4 =By — 1
Cg, C12 y®3 + 35952 + ... — 196313y — 7921
10 y°% — 13y°% + .- + 120871y — 11025




